Elevation breakdown Dataset 100 meter
Description

The elevation breakdown is used to allocate land cover changes into homogeneous areas as function of height, slope and distance to the sea. It defines five relief typologies:

· Low coasts (<50 m)

· High coasts (>50 m)

· Inlands (0 – 200 m outside the coastal strip)

· Uplands (Between 200 and 500 + the flat areas between 500 and 1000 m)

· Mountains (Slope areas between 500 and 1000 m are all the areas > 1000 m)

The Elevation breakdown is made of 3 layers:

1. Distance layer

2. Slope layer

3. Elevations layer

Procedural steps
Source data:
· SRTM  Digital Elevation Model 100 m

· Reference coastline: ESRI Nuts 0 coastline: I:\DATA\EEA\elevationmaps\Coastline\ESRI_derived
Pre –procedural settings

The SRTM 100 resolution for Europe is a heavy dataset and takes a lot of memory to process. Therefore do the following:

· Store the source data on a local drive (C: //Temp)
· Write outputs to SDE by setting the ‘Scratch Workspace’ to SDE in the Geoprocessing Environment/General Settings. 
· Convert the reference coastline to polygon (LinetoPolygon) to be used as analysis mask (Raster Analysis Settings). 

Slope layer

· Derive slope from the SRTM using the Slope tool in Spatial Analyst. 

· Filtering the slopes with the Spatial Analyst filter tool with a 3x3 filter
· Reclassifying the Slope raster into two classes:

	Value
	Description

	1
	Slope (< 2 %)

	2
	Slope (>2 %)


Distance layer 
· Calculating distance to coastline with Spatial Analyst Euclidian Distance tool

· Reclassifying the distance raster into two classes:

	Value
	Description

	10
	Coast (<10 km)

	20
	Coast (>10 km)


Elevation layer
· Reclassifying the SRTM into 5 classes:

	Value
	Description

	100
	0 – 50 m

	200
	50 – 200 m

	300
	200 – 500 m

	400
	500 – 800 m

	500
	> 800 m


Creation of the Elevation Breakdown raster dataset (EBK100)
· Combining the three raster layers with Spatial Analyst Raster Calculator
· Reclassifying the raster layer into 5 classes:

	Value
	Reclass
	Description

	111
	1
	Low coast

	112
	1
	Low coast

	121
	3
	Inlands

	122
	3
	Inlands

	211
	2
	High coast

	212
	2
	High coast

	221
	3
	Inlands

	222
	3
	Inlands

	311
	2
	High coast

	312
	2
	High coast

	321
	4
	Uplands

	322
	4
	Uplands

	411
	2
	High coast

	412
	2
	High coast

	421
	4
	Uplands

	422
	5
	Mountains

	511
	2
	High coast

	512
	2
	High coast

	521
	5
	Mountains

	522
	5
	Mountains


Eliminating polygons smaller than 100km2
The Eliminate tool in ArcGIS 9.2 seems to have a problem with large datasets. In this concern 320028 rows. A workaround is to convert the shape file to coverage and run the process with the Coverage Eliminate Tool. Remember to delete the polygons automatically generated by ArcInfo.

· Converting raster layer to polygon (RasterToPolygon)
· Converting polygon to coverage

· Deleting polygons smaller than 100 km2 with ArcInfo Eliminate (Eliminate (Arc))

· Converting the coverage to polygon with the FeatureClassToFeatureClass tool

· Convert the polygons to raster with the FeatureToRaster tool. (Not polygon to raster)
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